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WEST BENGAL STATE UNIVERSITY
B.A. Honours Part-II Examination, 2020

PHILOSOPHY
PAPER: PHIA-IV
Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z FYMo Q"Y/VW fac e
Candidates should answer in their own words AT [NCST ©IRNF TR T AT AT M
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

Answer any three questions, taking at least one from each group
@-FI FoaS avie Tea wie (aifef e 2t wwe: s )
General Impression — 2 marks

Yo TeFHe! - §
GROUP-A / Tei-5

1. (a) What is the difference between exclusive and non-exclusive disjunction? Give 3
example.

R @ SRR S -3 (K 0o (P 2 Trigael wis |
(b) If p-g=T then determine the truth value of the statement: ~[(pVv ¢q)=¢] 3
W pg=T T, @ ~[(pV q)=q] 93 &5 e Tt |

(c) Determine whether the following statement forms are Tautologous, Self- 3+3
Contradictory or Contingent by means of truth table.

FEPARAR AR T AP Fos37ey, Fosfen Tt wiifes of fefa s
() [(p=9)-(g29)]>(p-~p)
(ii) polg>(rop)]
(d) Use truth table to determine the validity or invalidity of the following argument: 4

If I study I make good grades. If I do not study I enjoy myself. Therefore either I
study or I enjoy myself.

TePRAE AR e Ifeha el At izt o i
T I 2foie S, O@ AW ©OF T FE 1 AW A 2o G F, Sz S Tsiw
QifF | oAk, =W SN “forew) FfF, S-S ey ke

2. (a) Construct formal proof of validity of any twe from the following arguments 4+4
(Do not use C.P. or L.P.)

@A o7 SRe (3ol 7 F6 (C.P. € [P 2R 71l FF) |

(i) Jv(~J-K), JOL / - J=(L-J)

(i) (G-S) oD, (SoD)oP, G /..P

(i) Jones will come if he gets the message, provided that he is still interested.

Although he didn’t come, he is still interested. Therefore, he did not get the
message.

(et I 2B 20 OIRE ¢ ST, SR AW @ KA @ies O SiF QeS|
e (ST SN ©izeETe @ [Ew @dve O SF Sicg) JoaR, (Sl 24
)
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(b) Prove the invalidity of the following arguments by the method of assigning truth

values.

FOTET) WA “fafod AR Wi el siagst emid wes

(i) (4>B)-(CoD) (i) M=(NvO)
AvC N=(OvM)
(BVD)D(E-F) O=(Mv B)
ED(F2G) ~M
Go(4ADH) s NvC

S H

3. (a) Determine whether the following statement is tautologous or not, by using truth
tree method.

O “afod Q1 Ao AT Foe7) el (e
A—[A—(B&—B)]
(b) Use truth tree method to test the validity of the following arguments:
TR =1l el w0 FCAIe Ieefm ael «12m! s
(i) A< B
AvV
A& B

(ii) We shall fish if it rains and swim if it does not. Therefore, we shall fish or
swim.

Il W 479 AW I 27 9. S| Aol 63 A ©f 9 27| O, SEl W 479
EREIMIS Rl
(c) Determine whether the following statements are equivalent:
fAcare qierefer s fea fad e
A—>(B—-C), (4> B)->C

4. (a) Why is L.P. called a proof by reductio ad absurdum?
AR 2ol 21w (1.P.) Ko Siien siafe &1 27 (& 9

(b) Prove the validity of the following argument by the method of conditional proof.
(C.P)

2IPTERe 2ol Amfon ARl e Ieba taas! e i
(AvB)>(C-D)
(DVE)DF/:.ADF
(c) Prove the validity of the following argument by Indirect Proof (I.P.) method.
AR @l oo AR [afiiie el el e e
(MVvN)D(O-P)
(OvQO)D(~R-S)
(RvT)o(M-U)/-..~R

(d) Use the method of Indirect Proof to verify that the following statement is a
tautology:
AT el “iahos AR 2 Tt @ fAsierie e Tosme;:
A=[Av (A-B)]

\S}
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GROUP-B / fqeta-2

5. Test the validity of the following arguments by Venn diagram indicating the 4x4
mood and figure of each of them.

aifefoa IS 8 k=M Trad F0a Feferie Ieelr (eafboas MRy el [eR Sl

(a) There are handsome men but only man is vile. So it is false that nothing is both
vile and handsome.

e 7R IR, [F (FIETNG 712 A6 & | JoAR, @b Nl @, G5 @S 78 @
A5 8 el |

(b) Straight lines never curve. Only straight lines are the sides of triangles. So the
sides of triangles never curve.

FREICAY TN (0P I A | (P FREICHRNL (P! frgrers 2 2o 2Ned | Joak fagres
L FLS ([{F AT

(c) Where there’s smoke there’s fire, so there’s no fire in the basement, because
there’s no smoke there.

@ATTR 43 (TR %, FOIR @GS T (72 T G 4 (7121
(d) AEE — 4th figure
AEE — 59 2

6. (a) Explain with example the principle of Universal Instantiation. 4
AR pRIeiFae ozt Swizgertz A S
(b) Construct formal proof of validity of the following: 4x3

i Fewlm Siwmete st e Fes
(i) @x)(Px-~0x)

(X)(PxDRx) / .(Ix) (Rx -~ Ox)
(ii) (x)(Fx>Gx)

(Fx)(Fx-~Gx) / -.(x)(GxD Fx)

(iii) Socrates is mortal. Therefore everything is either mortal or not mortal.

HCGG TR | O FRNR R AL Sl e Te 73|

7. (a) Symbolize the following sentences by using quantifiers, variables etc. 2x3
fsfefae amefire Tees, Ffeans Toyina TR aviFiie FaEis
(i) Apples and oranges are tasty and good for health.
WA @ FHANE TR IR FICHA o) S |
(i) No car is safe unless it has good brakes.
CPICA G1-2 fesiiom w2 Fw 1 ©f ©itetl @ AT |
(ii1) Sita is a good singer.
Hret AR |

(b) Determine the invalidity of the following arguments by the method of truth value 5+5
assignment: (any two)

TP AR Al (eHe Iferefem sitare! emid FEie (@ @it 715)

(1) (x)(Ax>DBx) (1)  O)[(SxvTIx)D~Uxvlx)]
(x)(Cx> Ax) (3x) (Sx-~Wx)
~.(3x)(Cx- Bx) (3x) (Tx-~ Xx)

(X)(~Wx> Xx)
~(3x) (Ux-~Xx)
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10.

11.

(a)

(b)

(©)

2105

(ii1) If anything is metallic, then it is breakable. There are breakable ornaments.
Therefore, there are metallic ornaments.

yigfafife IGG2 o5 | T o1z AR
oW, YgffEe szt =itz

Discuss critically Mill’s method of Argument as a method of proof and a method
of discovery.

IRHF @2 AR 2imfowmeet BT 9T siwie JReE Ena s

What is explanation? What are the differences between scientific and unscientific
explanation? Explain with illustrations.

I FIE 6 2 ([Q@RIF G SIS e ey [F 1 el wiieg 9 Swigaemz
FEN

Write short notes on the following:
fesferfs fRanefem Som e Sl @eats
(1) Mill’s method of residues.
IBGERIRGERI S
(ii) Seven steps that constitute the Scientific Method.

eI oimiod Mefb |

Calculate the probability of the following cases:
e craefem seRTel fdf et

What is the probability of getting at least one and at most one head in tossing
three coins?

TS0 7 53 T T80 ¢ QA GR SFEF AT (2 2T HEI[o| I 9

In a book fair there are five entrances. Four friends come to visit the book fair.
What is the probability of their entering the fair by the same entrance?

A1 AT 20T AT A L SR (el (A0S AP BlRere I% 92, &A1 A ey
LI SO F9© 2

What is the probability of getting three aces in three successive draws from a
deck of cards?

(i) Ifthe cards drawn are replaced before next drawing.

(i1) Ifthe cards are not replaced.

G35 SR A& (AF 77917 O Gelte foaaiaa GF! €I TRl T 9
(i) W coten O SRR (ST wital 2= Aifee @Fae (redl 23
(i) T Coten i Jifets @Fe (el =1 2

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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